MPTL Example
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J,  Third Party Pay Date 13 X 28 days

The MPTL is paid to the landlord on the TPD cycle date following the UC pay date every 28 days (17/10 on 26/10,
17/11 on 23/11). The months award every 28 days recovers some arears each payment. There are 12 monthly
payments and 13 TPD cycle payments in a year so we miss one TPD date each year. This occurs when 2 of the
TPD occur in the UC payment cycle of the claimant. As above we pay claimant on 17/01 and landlord on 18/01 by

15/02 the claimant has not been paid further UC so this is the TPD cycle we miss. The claimant is paid on 17/02
and landlord receives payment on next following cycle 15/03.



